m7ERk 30BHEMER

~BERE (Fd) ~
<esmkkim 3FAE>
FRERE[7]

TrA=T14vr<A>#EBTOERAHY

ERE 260,000 A
= 1,530 F/B x30= 45,900 A
TA=T4tuk 1,694 F/B x30= 50,820 H
ANEREE it 356,720 M
ANEED it 422,720 [ (=¥ =%
ANEEQ it 439,220 [ (=¥ =%
EESQ), st 488,720 A (ZEME%
BE=Q it 620,720 A (ZHEE

TFrA=T14yb<cS>H|BOOHERLL

ERE 260,000 H
BE 1,530 A /B x30= 45,900 M
FrA=T4tvhk 814 M /H x30= 24 420 H
ANERE it 330,320 A
2 AEBED Bt 396,320 0 (ZHEE
2ABED it 412,820 [ (ExEE
EESO) &t 462,320 M (=HEE
EZQ it 594,320 A (=%

X BES EHZREFNHIGE. MR, HREENRELES.

2,200 MH/H)
2,750 M/H)
4,400 MH/H)
8,800 A/AH)

2,200 MH/H)
2,750 MH/H)
4,400 MH/H)
8,800 A/AH)

SHM7EAR1BER



m7ERk 30BHEMER

~BRERE(BA) ~
<65 kil 3EIAE>
FREE%E [(]

TAZT1yr<A>#HBODERAHY

BB 170,000 M
an 1,530 A/B x30= 45,900 H
7 A= Tk 1,694 M/8 x30= 50,820 H
AN &t 266,720 M
QINEBED Hi 332,720 M
INEPED &t 349,220 A
A=D &t 398,720 A

A= &t 530,720 A

TA=T14yb<cS>H|BOOHERLL

ERE 170,000 A
BE 1,530 A /A x30= 45,900 A
TA=T4tvk 814 M /B x30= 24,420 H
ANERE &t 240,320 A
2ABED &t 306,320 A
2AEEQ &t 322,820 A
EZED &t 372,320 H

EZEQ &t 504,320 A

X BES ERZERETNHIGE. MR, EREENRLELES.

(BMEHE
(BMEHE
(BMEHE
(BMEHE

(BMEHE
(BMEHE
(BMEHE
(BMEHE

2,200 MH/H)
2,750 A/H)
4,400 MH/H)
8,800 A/AH)

2,200 MH/H)
2,750 A/H)
4,400 MH/H)
8,800 A/AH)

SHM7EAR1BER



m7ERk 30BHEMER

~RERR(Fid) ~
<6SERE EEE>
PREE#E [V]

TrA=T14vr<AS> BT OERAHY

ERE 90,000 M
BE 1,530 M/B x30= 45,900 A
TA=T1vbk 1,694 F/B x30= 50,820 H
ANERR &t 186,720 M
ABED &t 252,720 O (EH=E
ABEQ &t 269,220 M (EH=E
BEED &t 318,720 M (EH =%
EEQ &t 450,720 A (EH=#E

TFA—T4yb<c>#MBLDERLL

ERE 90,000 A
RE 1,530 A /A x30= 45,900 A
TAZT4tvbk 814 M /B x30= 24,420 H
ANERE &t 160,320 A
2 NERED it 226,320 @ (EHEE
2ANEREQ Bt 242,820 [ (EHEHE
EESQ), it 292,320 A (EMEE
EESEY it 424,320 1 (EMEL

X BES EHZREFNHIGE. MR, BHREENRELTS.

2,200 MH/H)
2,750 M/H)
4,400 MH/H)
8,800 A/AH)

2,200 MH/H)
2,750 MH/H)
4,400 MH/H)
8,800 A/AH)

SHM7EAR1BER



m7ERk 30BHEMER

~ BRI (BLiA) ~
<é65mkAkim 3FBAE>
PREEER [T]
TFA-T14EvR<AS#BOOFERAHY
EEE 57,600 A
BE 1,530 M/B x30= 45,900 A
FA=T1Ebk 1,694 F/B x30= 50,820 H
A NERE 5t 154,320 H
PIN:=AHQ) &t 220,320 A
PIN:=AH0) &t 236,820 A
EESQ), &t 286,320 H
E=EQ &t 418,320 A

TA=T14yb<cS>H|BOOHERLL

ERE 57,600 A
BE 1,530 M /B x30= 45,900 H
FA=T1Evbk 814 A /A x30= 24,420 A
ANERE it 127,920 M
2AEED &t 193,920 H
2AEREQ &t 210,420 H
BEED &t 259,920 A

EEQ &t 391,920 A

X BES . ERZERETNH -GS, MR, EREFENRLELES.

(BMEHE
(BMEHE
(BMEHE
(BMEHE

(BMEHE
(BMEHE
(BMEHE
(BMEHE

2,200 MH/H)
2,750 H/8)
4,400 MH/H)
8,800 A/AH)

2,200 MH/H)
2,750 A/H)
4,400 MH/H)
8,800 A/AH)

SHM7EAR1BER



m7ERk 30BHEMER

~ BB RRAR (BLA) ~
<e65mkkim 3FNEHE>
FREZE (7]
FA—T1vb<AS#ETCOERAHY
ERE 35,400 A
B% 720 A/B x30- 21,600 M
FA=T1Ebk 1,694 F/B x30= 50,820 H
ANERE 5 107,820 M
RAHED &t 173,820 A
LAEEQ &t 190,320 A
BEBED &t 239,820 A
BEEQ &t 371,820 A

TA=T14yb<cS>H|BOOHERLL

ERE 35,400 H
BE 720 A /A x30= 21,600 A
FA=T1Evbk 814 A /A x30= 24,420 A
ANERE it 81,420 M
2AEED &t 147,420 H
2AEREQ &t 163,920 A
BEED &t 213,420 A

EEQ &t 345,420 A

X BES ERZERETNHIGE. MR, BREENRLELES.

(BMEHE
(BMEHE
(BMEHE
(BMEHE

(BMEHE
(BMEHE
(BMEHE
(BMEHE

2,200 MH/H)
2,750 H/8)
4,400 MH/H)
8,800 A/AH)

2,200 MH/H)
2,750 A/H)
4,400 MH/H)
8,800 A/AH)

SHM7EAR1BER



